MULTIPLYING METHODS: DISTRIBUTIVE PROPERTY

Recognizing Patterns

Below are 4 different expanded expressions. What do they have in common?

(x+2)(x+3)
X +2x+3x+6

x°+5x+6

(x-2)(x-3)
x*—=2x-3x+6

X’ —5x+6

(x+2)(x—3)
X +2x-3x-6

)
X —x—06

Verbalizing

(x—2)(x+3)
X’ =2x+3x-6

X +x—6

Generalize what you observed above. Explain what is happening in the pattern you see.

Applying

Use your generalization to multiply: (x —2) (x*+ 5x — 3).
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MULTIPLYING METHODS: BOX METHOD

Recognizing Patterns

Below are 4 different expanded expressions. What do they have in common?

(x+2)(x+3) (x—2)(x—3)

X +2 X -2
X x2 +2x X X2 —2X
+3 + 3x +6 -3 —3x +6
2 2
X +5x+6 x —=5x+6

(x+2)(x—3) (x—2)(x+3)

X +2 X -2

X x? + 2x X X2 —2x

-3 —3x -6 +3 + 3x -6
xI—x—6 xX+x-6

Verbalizing

Generalize what you observed above. Explain what is happening in the pattern you see.

Applying

Use your generalization to multiply: (x — 2) (x> + 5x — 3).
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MULTIPLYING METHODS: VERTICAL (STANDARD) MULTIPLICATION

Recognizing Patterns

Below are 4 different expanded expressions. What do they have in common?

(x+2) (x—2)
-(x+3) -(x—3)
+3x +6 -3x +6
X +2x 40 x> 2x +0
X +5x+6 X =5x+6
(x+2) (x—2)
-(x—3) -(x+3)
-3x -6 +3x -6
XX +2x +0 x* =2x +0
X’ —x+6 X’ +x+6

Verbalizing

Generalize what you observed above. Explain what is happening in the pattern you see.

Applying

Use your generalization to multiply: (x — 2) (x> + 5x — 3).
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MULTIPLYING METHODS: GEOMETRIC AREA (ALGEBRA TILES)

Recognizing Patterns

Below are 4 different expanded expressions. What do they have in common?

(x+2)(x+3) (x—2)(x—3)
s nn [
X x? x| x X x? —-x|-x
1] x 1)1 1] —x 1)1
1| 1)1 1] x 111
I X 1|1 E —x 1|1
X’ +5x+6 x*=5x+6
(x+2)(x—3) (x—Z)(x+3)
JEESsnn e
X x? x| x X x? —-x|-x
= x  |a|a 1| x 1)1
1] ~ |1 1| ]
E -x —1]-1 I x -1]1-1
xX—x—6 X+x-6

Verbalizing

Generalize what you observed above. Explain what is happening in the pattern you see.

Applying

Use your generalization to multiply: (x — 2) (x> + 5x — 3).
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